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Letter and spirit: on the Ministry of Education notification
The new detention policy seeks to address a real issue, but it fails

Among the key school education reforms instituted by the UPA government as part of the Right to
Education were Continuous and Comprehensive Evaluation (CCE) and a ‘no detention’ policy up to
Class 8. Both sought to create a benign environment in school so that there was no pressure of final
examinations and “standards” on the child. The CCE was to be executed from Class 6, in discrete steps
throughout the year, which meant no scary final test of just academic achievement based on a year-
long curriculum. Whether those reforms contributed to the current situation or not, the reality is that
a significant number of students passing out of primary school do not have foundational numeracy
and literacy. And they do not seem to catch up by the time they leave middle school. Recognising the
gap in achieving learning outcomes, the NDA government sought to do away with the no detention
policy, in 2019, leaving it to the appropriate State governments. The CCE was given up too. But the
COVID-19 pandemic intruded and made it impossible for schools to even consider detaining students.
The recent notification of the Ministry of Education has removed the discretion given to State
governments. It has mandated a final examination at the end of Class 5 and Class 8, which will assess
a child’s competence. If he or she is not found to be competent, the child will be re-examined after
two months after additional instruction. If the child fails again, he or she will be detained. The rules
say no child should be expelled before completing elementary education.

Practical necessity is driving this change in norms. Steps do need to be taken to address the gap in the
learning outcomes achievement. An educated, capable and skilled population is needed to reap the
demographic dividend. It takes an entire neighbourhood to educate a child, not just the school and
parents. The dismal situation in learning outcomes is a collective failure of society that needs to be
addressed. But it would take a lot more than this particular change in policy to trigger a turnaround.
CBSE-affiliated and other private schools can easily implement the new policy. However, for some
States, it will be a political hot potato. Private schools should not use this as an excuse to expel poor
performing students — safeguards would be needed. A sad consequence of the policy is that it brings
back a single final examination as an arbiter of a child’s promotion or detention. While NEET or the
JEE may be taken as special cases applying to extremely competitive professions, to bring back one
final test at the school level is a regression. The National Education Policy 2020, for instance, wants to
replace summative assessment with formative, and promote self and peer assessments. It promises a
“holistic, 360-degree, multidimensional progress report card” detailing the “progress and the

uniqueness of each student”. The new detention policy does not reflect the NEP’s spirit. [Practice Ex.]

® Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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Vocabulary

1. Letter and spirit (phrase) — In full essence, 12. Literacy (noun) — Reading and writing

completely, both literally and effectively,

skills, education, knowledge HI& AT

thoroughly ¥ #Ta=T 3T 3187 31
13. Catch up (phrasal verb) — Reach the same
2. Detention (noun) — Holding back, level, close the gap, equalize, improve
retaining, non-promotion, delay 3 SRTERY O AT
3. Seek (verb) — Aim for, attempt, try, pursue, 14. Do away with (phrase) — Abolish,
search for IRl shidl eliminate, remove, get rid of HATCd ST
4. Address (verb) — Deal with, resolve, tackle, 15. Give up (phrasal verb) — Stop, abandon,
manage, confront HHTHTeT sh{aT cease, quit, relinquish E?I'gé\'FIT
5. Institute (verb) — Establish, initiate, start, 16. Intrude (verb) — Interfere, encroach,
set up, implement TATTIA AT intervene, disrupt, meddle SITEIT STelll
6. Benign (adjective) — Kind, gentle, 17. Discretion (noun) — Judgment, choice,
favorable, mild, harmless gl freedom, prudence, carefulness ICCERD
7. Execute (verb) — Implement, carry out, 18. Mandate (verb) — Require, authorize,
perform, administer, accomplish frafeaa order, direct, decree 37TCeT ST
19. Assess (verb) — Evaluate, measure,
8. Discrete (adjective) — Separate, distinct, determine, judge, analyze ¥ e-dTehe] el
individual, unique, independent 3TeldT 20. Competence (noun) — Ability, capability,
9. Scary (adjective) — Frightening, skill, proficiency, qualification DIER)
intimidating, alarming, unsettling, daunting
21. Competent (adjective) — Capable, skilled,
SMdaT
qualified, proficient, adequate H&TH
10. Curriculum (noun) — Course of study,
. 22. Detain (verb) — Hold back, retain, stop,
syllabus, program, academic content
S IRET delay, restrict ehell
11. Numeracy (noun) — Mathematical skills, 23. Expel (verb) — Remove, dismiss, exclude,

arithmetic ability, number proficiency
IT0TeT §THAT

eject, oust TSRITAT LT
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Elementary (adjective) — Basic, primary,
fundamental, foundational, introductory

PIBIEEY

Necessary (adjective) — Essential, required,

indispensable, mandatory, crucial 3Tddh

Drive (verb) — Propel, push, motivate,
force, guide IR AT

Reap (verb) — Harvest, gain, obtain, earn,
achieve 9Tcd shieT

Demographic dividend (noun) — Economic
growth potential due to a favorable

population structure STAGTRET I ATHTLT

Neighbourhood (noun) — Community,
locality, surrounding area, vicinity, region

REIR]

Dismal (adjective) — Poor, bleak,
depressing, gloomy, bad IGREISGED

Trigger (verb) — Cause, initiate, start,
provoke, spark IRd ST

Turnaround (noun) — Improvement,

change, recovery, shift, revival Qj‘r'-]'lT

Hot potato (phrase) — Controversial issue,
sensitive topic, difficult matter fqarerue

HeT

S

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Arbiter (noun) — Judge, decision-maker,

mediator, authority, evaluator 0TI

Regression (noun) — Reversion, decline,

backsliding, relapse, deterioration 9ol

For instance (phrase) — For example, such

as, to illustrate, like 3&TgYUT o ToIT

Summative (adjective) — Conclusive, final,
comprehensive, cumulative, total

AT ATcHSD

Assessment (noun) — Evaluation, analysis,

appraisal, judgment, estimation ?FJ\F&I'IW

Peer (adjective) — Equal, fellow,
companion, colleague AT TR

Holistic (adjective) — Comprehensive,
complete, integrated, overall, all-inclusive

AT

Detail (verb) — Describe, specify, elaborate,

explain, outline %Q-—dgrfaawam

Uniqueness (noun) — Distinctiveness,
individuality, singularity, originality, rarity

IR

Reflect (verb) — Represent, show, indicate,
mirror, reveal 9Yehc hiaT
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Summary of the Editorial
1. Background of Reforms: The UPA government introduced the Right to Education with
Continuous and Comprehensive Evaluation (CCE) and a ‘no detention’ policy to create a
pressure-free learning environment.
2. CCE Framework: The CCE was implemented from Class 6 to avoid final exams based solely
on year-long curricula, focusing on holistic evaluation.

w

Learning Deficiency: Many students graduating primary school lack foundational literacy

and numeracy skills and fail to catch up by middle school.

4. Policy Reversal: The NDA government scrapped the no detention policy in 2019,
transferring decision-making to State governments.

5. COVID-19 Impact: The pandemic disrupted education, making it impractical for schools to
implement detention measures.

6. New Notification: The Ministry of Education has now mandated final exams at the end of
Classes 5 and 8, with provisions for re-examinations and potential detention.

7. Retention Rule: Students failing the exam even after re-examination will be detained, but
no child will be expelled before completing elementary education.

8. Need for Reform: The policy change aims to address learning gaps and create a skilled,

capable population to leverage the demographic dividend.

o

Societal Responsibility: The poor learning outcomes reflect a collective societal failure,

requiring contributions beyond just schools and parents.

10. Implementation Challenges: CBSE-affiliated and private schools can implement the policy,
but for some States, it will pose political challenges.

11. Safeguards Needed: Private schools must not misuse the policy to expel underperforming
students, and safeguards are essential to prevent such practices.

12. Return of Final Exams: The policy reintroduces the final exam as a decisive factor in
promotion, which is seen as a regressive step.

13. Contradiction to NEP 2020: The policy contradicts the NEP's emphasis on formative
assessment, self-evaluation, and holistic progress reporting.

14. Policy Critique: The editorial argues that while addressing learning gaps is necessary, the
approach does not align with the spirit of progressive education reform.

15. Broader Efforts Required: A more comprehensive strategy is essential to improve learning

outcomes and transform education effectively.
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Practice Exercise: SSC Pattern Based
1. What is the tone of the passage? |[Editoria| page]‘

A. Nostalgic
B. Critical
C. Celebratory
D. Indifferent
2. What is the primary reason for reintroducing the detention policy in schools as per the
Ministry of Education's recent notification?
A. To improve foundational literacy and numeracy among students
B. To eliminate the pressure of final examinations
C. To standardize education policies across states
D. To ensure children are expelled before completing elementary education
3. What happens to students who fail the mandated final examination after additional
instruction and re-examination?
A. They are automatically promoted to the next grade
B. They are detained in the same class
C. They are expelled from school
D. They are transferred to another school
4. What is the primary goal behind introducing the new detention policy, as mentioned in the
passage?
A. To enforce a single final exam for students
B. To fully align with the National Education Policy (NEP) 2020
C. Toreduce teachers’ workload
D. To address the gap in learning outcomes
5. Why does the article criticize the reintroduction of a single final exam for promotion or

detention?

A. It simplifies student assessment across different schools

B. It makes it easier for all students to pass

C. Itisfavored only by a few private institutions

D. It contradicts the NEP 2020’s focus on formative assessment

6. Select the option that will improve the underlined part of the given sentence. In case no
improvement is needed, select ‘'No improvement required’.
Monika said to her mother that, "l have passed the examination."

A. No improvement required
B. Monika said to her mother that, "l am passed
C. Monika said to her mother, "I have passed
D. Monika said to her mother that, "she has passed
7. In the following sentence the underlined part contains as error. Alternatives to the

underlined part are given as options. Select the correct alternative.
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The sky appeared to be greyest after the storm.
A. Geyer
B. Grey
C. Most grey
D. More grey
8. Select the most appropriate word from the given options that can substitute the word
‘courage’ and make a meaningful sentence.
| am not courage enough to take this risk.
A. discouraging
B. discourage
C. encourage
D. courageous
9. Select the INCORRECTLY spelt word in the given sentence.
Uluru is the world's largest monolith and Australia's recognisable natural icon with an elliptical
shape and a circumference of around 94 kilometers.
A. Elliptical
B. Kilometers
C. Circumfarence
D. Monolith
10. Select the most appropriate idiom to fill in the blank.
My car on the way to college yesterday.
A. broke out
B. broke down
C. brokein
D. broke up
11. Select the most appropriate ANTONYM of the given word.
Bulging
A. Hanging
B. Weeping
C. Contracting
D. Swelling
12. Select the most appropriate option to fill in the blank.
Living within our environmental limits is one of the central of sustainable

development

A. Demonstrates

B. Illuminates

C. Principles

D. Agencies

13. Select the INCORRECTLY spelt word

A. Poignant

B. Relevant
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14.

15

16.

17.

18.

19.

C. Eligible

D. Gourrmet

In the following sentence the underlined part contains as error. Alternatives to the
underlined part are given as options. Select the correct alternative.

Playing in the field, the young gayer students were laughing and giggling.

A. Gay

B. Gayest

C. Most gay

D. More gay

. Select the most appropriate option that can substitute the underlined segment in the given

sentence.
Good nutrition is the bedrock at child survival, health and development

A. bedrock from child survival

B. bedrock through child survival

C. bedrock off child survival

D. bedrock of child survival

Select the most appropriate option to fill in the blank.

Roger applied the in advance as he anticipated an accident

A. brig

B. break

C. brake

D. broke

Select the most appropriate option to fill in the blank.

She was barking up the wrong when she filed a complaint against ragging with the
students' union instead of the university administration.

A. pillar

B. tree

C. dog

D. disc

The following sentence has been split into four segments. Identify the segment that contains
anerror in phrasal verb.

Tara was late for the meeting / but somehow managed / to catch out with / everything she had
missed

A. but somehow managed

B. everything she had missed

C. to catch out with

D. tara was late for the meeting

Select the most appropriate option to fill in the blank.

Never ever seen a more disgusting sight.

A. havel

B. I|have
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C. didl
D. has|
20. Select the INCORRECTLY spelt word
A. Reliable
B. Spectaculor
C. Gracious
D. Enthusiastic
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Traditional medicines (TMs) make (1) natural products and are of great
importance. Such forms of medicine as traditional Chinese medicine (TCM), Ayurveda, Kampo,
traditional Korean medicine (TKM), and Unani (2) natural products and have been
(3) all over the world for hundreds or even thousands of years, and they
(4) blossomed into orderly-regulated systems of medicine. In their various forms,
they may have certain defects, but they (5) still a valuable repository of human
knowledge.

21. Select the most appropriate option to fill in blank number 1.
A. uses of
B. use of
C. used off
D. used of

22. Select the most appropriate option to fill in blank number 2.
A. employs
B. employed
C. employ
D. employing

23. Select the most appropriate option to fill in blank number 3.
A. practices
B. practised
C. practises
D. practice
24. Select the most appropriate option to fill in blank number 4.
A. had
B. have
C. have being
D. has
25. Select the most appropriate option to fill in blank number 5.
A. are
B. am
C. was D.is
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Answers

1. B 2.A 3.B 4.D 5.D 6.C 7.B 8.D 9.C 10.B 11.C

12. C 13D 14A 15D 16.C 17B 18C 19.A 20B 21B 22.C

23. B 24B  25.A [Practice Exercise]
Explanations

1. B) Critical

The passage consistently questions and scrutinizes the new detention policy, pointing out its
shortcomings and highlighting the mismatch with the spirit of the National Education Policy.
This makes the overall tone of the passage critical.
A: The passage does not express a longing for the past or previous policies in a sentimental
way; it merely states facts about earlier reforms.
C: The passage is not praising or rejoicing over the new policy; rather, it points out its flaws.
D: The passage is clearly not unconcerned; it actively evaluates and critiques the changes.

2. A)To improve foundational literacy and numeracy among students
The passage discusses how a significant number of students leaving primary and middle school
lack foundational literacy and numeracy skills. The reintroduction of detention policies aims to
address this gap and ensure better learning outcomes.
B) Incorrect because the detention policy involves reintroducing final examinations, which
contradicts the idea of eliminating exam pressure.
C) Incorrect because the policy does not primarily aim to standardize state education policies
but rather to improve learning outcomes.
D) Incorrect because the rules explicitly state that no child should be expelled before
completing elementary education.

3. B) They are detained in the same class
The passage clearly mentions that if students fail both the final examination and the
subsequent re-examination after additional instruction, they will be detained in the same
class.
A) Incorrect because automatic promotion is not allowed under the new policy if the student
fails both examinations.
C) Incorrect because the rules specifically state that no child should be expelled before
completing elementary education.
D) Incorrect because there is no mention in the passage of transferring students to another
school.

4. D) To address the gap in learning outcomes
Dis correct because the passage explicitly states that the new detention policy aims to tackle
the “real issue” of poor learning outcomes and strengthen the education system.
A is incorrect since the single final exam is mentioned as a consequence (and a problematic
one), not the main goal.
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B is incorrect because the policy does not reflect the spirit of NEP 2020, which emphasizes
formative assessments, not just a single exam.

Cis incorrect; there is no mention in the passage about reducing teachers’ workload as the
primary aim.

D) It contradicts the NEP 2020's focus on formative assessment

D is correct because the passage explicitly mentions that having one final exam goes against
the NEP 2020's move toward holistic, continuous, and multidimensional assessments.

A is incorrect; the article does not praise single exams as simplifying anything. Instead, it
deems it a "regression."

Cis incorrect; the passage indicates that private schools can implement the policy easily, but it
does not say they favor a single final exam as a method.

B is incorrect because bringing back one final test does not automatically make it easier for
students to pass; it can, in fact, penalize them by basing their promotion on a single
performance.

C) Monika said to her mother, "I have passed

"That" ol use 3Tdh % FIifh sentence H (Direct Speech) T 3919 fohaT 13T %‘ Monika
said to her mother, "I have passed": Direct Speech # that ST T a_-l'éT T SITdT, 3d: ZI%TU
'that' §ETT & |

The word "that" is unnecessary because the sentence uses direct speech (quoted speech
Monika said to her mother, "l have passed": When reporting direct speech, we do not use
that

B) 'greyest’ & Sc.of 'grey’ & use BT FA1{eh TTaFT H TR et AT T guier gra=T adis
ﬁ%ﬂT?I'CIT%, B-ﬁT?ETum Jh} @fglolo-ll F—I?fﬁaTTe?f%’I 3d: Positive degree T 39T
sRag

'greyest’ will be replaced with 'grey' because the sentence simply describes the state of the sky

without any comparison. The positive degree is used when no comparison is involved.
D) sentence p= ‘courage’ U AT (noun) %’, éﬁmaﬁw adjective FT 3TFeIHdAr %EFQTfa'TZI%'

‘enough’ T TIATT T IGT &1 ITFT T I TIET gI9TT: | am not courageous enough to take

this risk."

The word ‘courage’ is a noun, but here the sentence requires an adjective to modify ‘enough’
and describe the subject ‘I’
take this risk."

C) The INCORRECTLY spelt word in the given sentence is ‘Circumfarence’. The correct spelling

. The correct sentence would be: "I am not courageous enough to

is ‘Circumference’, which means “the enclosing boundary of a curved geometric figure,
especially a circle” IRTE|
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10. B) Broke down — (phrasal verb) If a machine or vehicle breaks down, it stops working. @IS g
olTelT

e Broke out — (phrasal verb) To begin suddenly or forcefully, especially referring to

something unpleasant like war or disease. € 9T
e Broke in — (phrasal verb) To enter a place illegally or forcefully. mw
e Broke up — (phrasal verb) To end a relationship, meeting, or gathering. €& ST=T
11. C) Bulging (verb/adjective) — Swelling outward; protruding; sticking out. Hefell / 3HIT

Antonym: Contracting (verb/adjective) — Becoming smaller; shrinking; reducing in size.
fepgr / G frd gler

e Hanging (verb/adjective) — Suspended; drooping; dangling down loosely. eT&dhelT

e Weeping (verb/adjective) — Shedding tears; crying; showing sorrow. T

e Swelling (verb/adjective) — Becoming larger in size or volume; expanding. Pelell

12. C) Principles' T use 813 &A1 "principles” T 31 gAT & Heldd GREEIRC ARG IRET: I

zﬁsrafrf?léﬁl?rm%| T T T "sustainable development" & HEY qsﬂdﬁﬁ dTd shY
el %}, k> ry "living within our environmental limits" Teh or Eﬁmﬁ g %’I 3'8'1%4'(’
'principles’ ?II'ETU F&'ﬂ' IGE TR a'l Demonstrates' T 3727 a' gefa T, ST U TR %’ I g
# @rell TATT 9T Teh AT (noun) FT 3TATHdT g, SHTIT Tg el g1 'llluminates' T 37T &
YT STeleTT AT TS Tl T AT Teh o & 3R Tesy & e 8T Saar| 'Agencies’ FIHTE
HITSsT T HEATT, oifehed AT o TGaT H Tg Tel wTe] ¢ Fi1oh AGI Ueh TR I HTGLIehdT
g, o Tor fondlT Hetaet 7|

'Principles' will be used because it refers to fundamental rules or guidelines that direct

something. The context of the sentence is about discussing the central aspects of "sustainable
development,"” and "living within our environmental limits" is a core principle. Thus, 'principles’
is the most appropriate option here. 'Demonstrates' means to show or exhibit, which is a verb,
but the blank requires a noun, so it is incorrect. 'llluminates' means to shed light on or make
clear, which is also a verb and does not fit the context. 'Agencies' refers to organizations or
institutions, but the sentence requires a concept, not an entity, making it incorrect.

13. D) The incorrectly spelt word is ‘Gourrmet’. The correct spelling is ‘Gourmet’, which means “a

connoisseur of good food; someone with refined tastes in food and drink”. "aﬂaﬂw%ﬁqﬂ,
i @el-Giet T Hioil & 3T JOTdedll THE Hicll 811"
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14.

15.

16.

17.

A) gayer' & TAHT W 'gay' ol use gham FIifeh sentence H ThAT T IR T Comparison bl
mention =TgT & sentence & "gayer" &l use Comparative Degree & fohaT IraT &, S Shddl ar
iﬁ‘qﬁ%@ﬂ@ﬂﬂ&%ﬁﬁ*%@m%’l WWWWW@% SHTIT Positive Degree
T FYeT FoRaT ST | aTeFT 31 TEY 2Tec 'gay’ B19TT|

The word 'gayer' should be replaced with 'gay' because there is no mention of comparison in
the sentence. The use of "gayer" indicates Comparative Degree, which is applicable only when
two entities are being compared. Since no comparison is indicated, the Positive Degree should
be used. The correct word in the sentence is 'gay’

D) ‘bedrock at child survival' o g&el 'bedrock of child survival' T use I3 FiTh ‘bedrock’ T
3721 g1 § "the foundation or basis of something" (TRdT et Fr =T I1 3MUR) 3-T\T31:|'3?Q:IT?—T
TG preposition 'of ST TAT BIAT & |

he phrase "bedrock of child survival" is correct because "bedrock" refers to the foundational
element or basis, and the correct preposition that follows it is 'of.' Prepositions like 'at,' 'from,’
‘through,’ or 'off' are not appropriate with the word 'bedrock’ in this context.

Q) Brake'ﬂuse@?ﬂa’qﬁﬁ?'brake'ﬂﬁé%mmmﬂgﬁﬂﬁiﬁmmmmﬂ
RE] sentenceWWW%%W?W@?W%W@%B@W@NQW
Y| 'Brig' T 372 § TUeh YhR T STGTST AT SieT | 'Break' T 37 & Avs=AT AT AT T, S T@T
39YeFC 76T ¢ | 'Broke' Teh ver il past &, TSTEhT aTeFd & HET 3TANT 16T 81 FehclT|

Brake' will be used because it refers to a device for slowing or stopping a vehicle or machine.

The sentence context indicates that Roger applied the brake in advance as he anticipated an
accident. 'Brig' means a type of ship or prison (does not fit the context). 'Break' means to break
or take a pause, which is inappropriate here. 'Broke' is the past tense of a verb and doesn't
grammatically fit in this context.

B) tree

Barking up the wrong tree(phrase)- be pursuing a mistaken or misguided line of thought or

course of action. fHET T&] & TR A ITATHEHT Blll, T 3H I Fel & TV el IEAT
3YeATeAT|

IE idiom 38 TEATT & 3ugerd & Frifeh a1er ST § fob 381 9ol 5198 (BT Je) fRIehrad
ol Y STafeh 38 faRafaeaTerT vRIrae & H9S =T I1fw 2|

Tree' is correct because "barking up the wrong tree" is an idiom meaning to look for a solution

in the wrong place or blame the wrong person. It fits the context where the sentence implies
she complained to the student union instead of the appropriate authority, the university
administration.
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18.

19.

20.

21.

22.

C) Catch up with (phrasal verb) to make up for something missed or to get back on track with

something|

sentence T Hegdl I T & Tob IRT o ST B IAT AT 3H Yehsal ol TATH fohaT| FHTAT,
eI phrasal verb 'catch up with' 13| ST — | had missed some classes, but | managed to catch

up with the syllabus later.
Catch up with (phrasal verb) to make up for something missed or to get back on track with

something| " The sentence implies that Tara tried to compensate for what she had missed.

Hence, 'catch up with' is appropriate. Example— | had missed some classes, but | managed to
catch up with the syllabus later.

A) 'Have I' 3T use 813 FiTeh inversion rule &1 "Never" S8 negative 2TsG o TG auxiliary verb
(have) subject (1) & Ygel 3TdT & | T§ sentence emphatic (ST &1 & ToIT) structure 3T 3TN
T gl %’I Sentence g cAodrd h gl 3’ & speaker o ogr "disgusting sight" q’@'ﬁ FHT Fl'(?r
&dT| 39feIT 'have I TET &1 'l have' IToId § Fifeh TG inversion structure ahT UToleT sTaT S|
'Did I' ITeld %’«Tﬂ’lﬁ:ﬂ? past tense ?ﬁlﬂ'%’, STafeh sentence present perfect structure #T use
FIAT & 'Has I' AT § FIiTh 'has' third-person singular (he/she/it) & TTT 3TAT gIATE, 'I'
Y L |

Have I' will be used because it follows the rule of inversion. After negative adverbs like

"never," the auxiliary verb (have) comes before the subject (I). The sentence emphasizes that
the speaker has never seen such a disgusting sight. Whereas: 'l have' is incorrect because it
does not follow the inversion structure. 'Did I' is incorrect because it implies past tense,
whereas the sentence needs present perfect tense. 'Has I' is incorrect because 'has' is used
with third-person singular (he/she/it), not with 'l

B) The incorrectly spelt word is Spectaculor. The correct spelling is Spectacular, which means

"beautiful in a dramatic and eye-catching way" (AT 3R 3@ T TR T FI are).

B) 'use of' &l use g1 F4ifeh make use of (phrase)- ol kT E) % fordT ST T 39T AT
aTeFg H g ST a1 § fob IRReR 3NTRT Srepfcieh ScdTel T SUAET &l §, SHTAT 'use
of JET 3UGF ¢

use of' will be used because "make use of" means "to utilize something." The sentence

explains that traditional medicines utilize natural products, making 'use of' appropriate here.
C) Employ' &l use E’I?'IT Fifh ZIE'T present tense # traditional medicines 3T general truth

IITIT AT &1 Tg 9T traditional medicines sl TARN AT F IR A Ta R Eg F T
sllczrfl.adn 3cUTeT &l 39T AT & | Simple present tense T 3YANET general truths IT habitual
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23.

24,

actions & ToIT TRIT SATAT &1 'Employs': TE third-person singular subject & AT use BIdT &,
maﬁsubject "traditional medicines" plural %’I WWWW%I employed': Jg

past tense @1 &2ITdT §, STafeh TGT IdHTT $HT a1 & W& g1 'Employing': TS participle IT
continuous tense ﬁmglal %’, @Iﬁw?f?lﬁ sentence H simple tense ﬁm%’l

'Employ' will be used because the sentence discusses a general truth about traditional
medicines in the present tense, which is a defining characteristic of these systems. The simple
present tense is appropriate for expressing general truths or habitual actions. '"Employs' is used
with a third-person singular subject, but here, the subject "traditional medicines" is plural.
Hence, this is incorrect. Employed' indicates the past tense, whereas the context talks about
the present. Employing' is used as a participle or in continuous tense, but here the sentence
requires a simple tense.

B) ‘Practised’ T use B9 Fifeh UG verb "practice” T past participle T & 3R sentence &
"have been" & HTY past participle T JTALTSAT & | Tg &2ATaT & fob IRIR gar3it &1 3uArer
oI 9HT § Tohar aram %’I < "Practices” T 31¥ %’ 37ITH (noun) AT present tense verb, ST
SH context ﬁ"&l’é’r a_-l'?l'%'l "Practises"” present tense %’, Gﬁgﬂ grammatical structure & foT HE‘»T
ST &1 "Practice” Uah noun & 31 JgT verb &1 3TGTHAT L |

"Practised"” will be used because it is the past participle form of the verb "practice," required
to complete the structure "have been practised." The sentence refers to traditional medicines
being used over a long period of time.While "Practices" means exercises (noun) or present
tense verb, it does not fit the context. Practises" is the present tense form in British English
and is incorrect here. "Practice" is a noun and does not suit the requirement for a verb.

B) Have' <hT use Eﬂ?'IT Fifh aFg 7 present perfect tense <l 39gter fohar arar %’, St Teh OT
foparm T gifar & St 31l & & g3 oY AR el & ST &1 "Blossomed" ¥ee; &I § o6
wmﬁ%mmé?mﬁ%ﬁmgé%mmaﬁqmﬁmﬁ 'Had' ITeTd & FA1Teh TF past
perfect tense ﬁwm&ﬁmﬁmmmﬁqﬁ@?maﬁmﬁw%l
TgT 0Y s FEUfa s18T &1 'Have being' grammatically 3T & Fifeh "being" &I "have" & §1G
39 structure H ogT foI@T ST ThdT| 'Has' TS & FAITeh AT T fa9T "they" ag?ﬁm%, 3R
"has" shdol Tehddel o AT FARTEIaT &

Have' is the correct answer because the sentence is in the present perfect tense, describing an
action that started in the past and continues into the present. The word "blossomed" indicates
that traditional medicines have grown and developed over time, and this development is still
relevant today. 'Had' is incorrect because it is used in the past perfect tense, which refers to an
action completed before another action in the past. There is no second past action here. 'Have
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25.

being' is grammatically incorrect as "being" cannot follow "have" in this structure. 'Has' is
incorrect because the subject "they" is plural, and "has" is only used with singular subjects.

A) "Are" &l use ?I'W Fifh “They' &l Y 'traditional medicines' & %’, ST plural %’I gﬂﬁt’,
auxiliary verb 8T plural " gl a1fgu|"Are" Tar % FIifh g plural subject & T@TA present
tense H AT ?IT-IT %’, S contextually oY Q:I't'?f %’I "Am" wrong %’ FiTh g singular first-person
pronoun 'l' & T FATIT BT &1 "Was" ITeld & FAifeh TG past tense I &2ATdT §, STafh

sentence present tense ﬁ%l "Is" W%W’%Z@' singular subject %ﬁl’@mglal %’, Safe
subject plural &1

“Are" is the correct choice because the subject of the sentence is "they," which refers to
"traditional medicines" and is plural. Therefore, the auxiliary verb must also be plural. "Are" is
correct as it agrees with the plural subject and indicates present tense, which matches the
context. "Am" is incorrect because it is used only with the singular first-person pronoun "I."
"Was" is incorrect because it indicates past tense, whereas the sentence is in the present
tense. "Is" is incorrect because it is used with singular subjects, but here the subject is plural
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